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4. Unit Task (Unit 1)

3. Unit Test (Unit 1)

1. BAj%ERR: All of the following are parts of culture except
150 :

A. value systems

B. thinking patterns

C. norms of behavior

D. natural landscapes

2% [natural landscapes]

2. ER%RR: Intercultural communication refers to the study of
yeird i

A. interpersonal communication

B. political communication

C. communication among people from different cultures

D. communication between individuals from the same culture
2% [communication among people from different cultures]

3. B%RR: Stereotypes are considered

1750

A. the most significant barrier to effective intercultural communication

B. acommon thing among most cultures

C. anegative force in human communication

D. one of the most significant barrier to effective intercultural communication
2% [the most significant barrier to effective intercultural communication ]

4, EAJERR: All the following are examples of stereotypes except
1IN :

A. all Japanese are well-behaved

B. most international students from China are diligent

C. women are beautiful

D. all Muslims are terrorists

£3#: [most international students from China are diligent]

5. ERJERA: Stereotypes usually result from
15610 ;

A. limited information

B. limited experience

C. limited interactions

D. knowledge and experience

2% [knowledge and experience]



6. ERIERR: Which of the following is not a type of stereotype?
17500

A, Age.

B. Food.

C. Sex.

D. Religion.

2% [Food.]

7. BAJ%RR: It is characteristic of stereotypes to be
1IN :

A. held in common by all group members

B. held in common by most of the group members
C. adirect expression of beliefs and values

D. both positive and negative

2% [held in common by all group members])

8. EAJERR: A good strategy to deal with stereotypes is
17610 ;

. ethnocentric

master one’s mother tongue

’

stay away from aliens
multi-lingual and multi-cultural
% : [multi-lingual and multi-cultural ]

cow»
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9. BA%RR: It is good advice to keep in mind that

15500 :

A. each individual should be treated differently

B. all individual group members show the same cultural values

C. common cultural patterns are always in the dominant culture
D. co-cultural groups should be assimilated into the dominant ones
2% [each individual should be treated differently]

10, ERI%RR: Stereotypes and ethnocentrism are
i i

A. two sides of the same coin

B. two different things

C. the same thing in different names

D. positive terms

&% [two different things]

4. Unit Task (Unit 2)
3. Unit Test (Unit 2)
1. BAj%RA: The age of constitutional monarchy in Britain began with the

1500
A. Glorious Revolution

of 1688.



B. War of Independence

C. English Renaissance

D. Religious Reformation
£%: [Glorious Revolution]

2. ER%GRR: The direct cause of Reformation in England was that .

i i

A. the Pope wanted more revenue from England

B. Henry VIII decided to divorce his wife, Catherine and the Pope turned it down

C. the Pope wanted England to make up with France after the Hundred Years' War

D. the Pope refused to appoint Henry VIII as head of the Church of England

Sk [Henry VIII decided to divorce his wife, Catherine and the Pope turned it down]

3. BA%RER: The main purpose of the Great Charter was .
15610

A. to protect ordinary people

B. to restrict the king's power

C. to restrict the baron's power

D. to establish a new government

2% [to restrict the king's power]

4, BA%RA: During the English Bourgeois Revolution, supported Parliament and stood on the side
of the king.

1IN :

A. the Roundheads ... the Cavaliers

B. the Cavaliers ... the Roundheads

C. the Independents ... the Roundheads
D. the Presbyterians ... the yeomen

2% [the Roundheads ... the Cavaliers]

5. BAj%ER: The British Parliament consists of two major parts: the House of Commons and .
1EIm

A. the Lower House

B. the House of Lords

C. the Labor Party

D. the Cabinet

2% [the House of Lords )

6. BE%ERR: Which of the following statements is NOT true?

150

A. The British Queen reigns but does not rule.

B. The British Queen summons, prorogues and dissolves Parliament.

C. The husband of the British Queen gets the titles of “the Duke of Edinburgh” and “the Prince of the United
Kingdom”.

D. The British Queen may change the laws passed by Parliament at will.

2% [The British Queen may change the laws passed by Parliament at will. ]



7. ERJERR: Which of the following Cromwell did NOT do?
1500

A. He dismissed the Long Parliament.

B. He beheaded Charles 1.

C. He declared England to be a commonwealth.

D. He prevented America from gaining independence.

2% [He prevented America from gaining independence. )

8. ERJERR: The People's Charter passed during the Chartist Movement was mainly concerned with
1IN :

A. improving the working conditions of industrial workers

B. political reforms, especially with regard to the election system

C. further industrial development

D. condemnation of British imperialism

2% [political reforms, especially with regard to the election system]

9. ERJ%ERA: Which of the following is not the role of MPs in the UK?
15610 ;

A. influencing the policy of the government

B. deciding the Prime Minister

C. talking about legislation

D. scrutinizing the administration of policies

2% [deciding the Prime Minister]

10. By : The Parliament of the United Kingdom was established
175 :

. in 1066

. in 1800

. in 1801

. in 1928

2% [in1801]

.

OO w >

5. Unit Task (Unit 3)
4. Unit Test (Unit 3)

1. ERi%RR: How many states in the United Sates do not have death penalty?
1510 ;

A, 17

B. 18

C. 19

D, 20

2% [19]

2. BA%RA: Ina system of government, the constitution vests all the governmental power in the
central government.

1IN :




confederate
federal
socialistic

% [unitary]

A. unitary
B.
C.
D,
&

3. ERERR: Which of the following is NOT thought to be the power of the national government in the federal
government system?

1IN :

A. control of federal money

B. control of interstate commerce

C. control of national defense

D. control of state criminal and civil laws

2% [control of state criminal and civil laws ]

4, BRI%RR: The federal union is a union of people in which

175Im ;

A. the national government and state government receive power from the people and exercise authority over
each other

B. the national government and state government receive power from the people and exercise authority over the
people

C. state government receives power from the national government and exercises authority over the people

D. the national government receives power from the state and exercise authority over the state

£ [the national government and state government receive power from the people and exercise authority
over the people]

5. BAJ%RR: Which of the following former presidents is more of a federalist?
150

A. Bill Clinton

B. Abraham Lincoln

C. Willard Romney

D. Theodore Roosevelt

2% [Bill Clinton)

6. ERJERA: Which of the following is NOT included in American 1787 Constitution?
yeir i

A. Separation of power.

B. Checks and balances.

C. Absolute monarchy.

D. Human rights.

&% [Absolute monarchy.]

7. ERAERR: Federalism was finally enforced partly out of the reason that
1500

A. amonarch derives his power of governance from a limited government

B. the regional interests should be given priority in consideration

C. settlers did not care who were in office so long as their rights could be protected




D. without some degree of state authority, some states would not have ratified the Constitution
&% [without some degree of state authority, some states would not have ratified the Constitution]

8. ERJERR: If one moves across states in America, he or she is required to re-register in the new residence and
change the license plate within the stipulated time. This shows of American Federalism.

i i

A. democracy

B. mandate

C. low efficiency

D. prevarication

2% [low efficiency]

9. BAj%RA: If President Donald Trump wants to officially declare war against Syria, he should have the
approval from

1500 :

A. Supreme Court
B. Congress

C. Pentagon

D. Secretary of State
S [Congress]

10, ERI%ERR: Most likely American Republicans will support
1IN :

A. fewer strings, less federal supervision, and delegation of spending discretion to the states

B. more detailed, federally supervised spending

C. more strings, less federal supervision and federally supervised spending

D. delegation of spending discretion to the states and more federally supervised spending

2% [fewer strings, less federal supervision, and delegation of spending discretion to the states]

4. Unit Task (Unit 4)

3. Unit Test (Unit 4)

1. BAj%ERR: The phrase The American Dream is said to have been coined for the first time by
1IN :

A. John F. Kennedy

B. George Washington

C. Abraham Lincoln

D. James Truslow Adams

£3#: [James Truslow Adams])

2. ER%RR: The idea of the American Dream is deeply rooted in in 1776, which proclaims that
“all men are created equal”.
18I0

A. The Epic of America
B. The Declaration of Independence
C. The Emancipation Proclamation
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